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Waveleneth | Amplitude | Freauenc Soeed Which one of these characteristics of wave
& P q Y P 1s independent of the others?
S J 3 g g o SsulSgadn |
Chemical Thermal | Mechanical | Electrical | Which form of energy 1s sound?
£//§I_§,lfgx.:ﬁl5£ 14cm &Vﬁz/u’{}’?}*.{l
S“ggéﬁff)%/_%é’”{, 5.8cm &
—20cm —9.9cm —8.2cm —4.lem | An object is 14 cm in front of convex | 3
mirror. The 1mage 1s 5.8 cm behind the
mirror. What 1s the focal length of the
mirror?
¥ Capa\ettaia}e 1S deflned as:
b " & o N b b &
5 AT 7oty F Tk FTksy (©) e ot L S P
L : ..‘/\-‘Q </ . Lo : 5
Free Positive Negative Posit1v: § n electric current in conductors 1s due to
Electrons Charges Tons ofis) | the flow of:
S 52 f R - :
o AR« Ir§$ ALY SetSpbed L i poudi 6
Sell A.C D.C Mg \ bl The transformer works on the principle of:
Induction Generator < ~ \5@ Induction | P P '
; ;’0' ;3;5 p M;:’C //T}j'ﬁ’ :wz.MUﬁGJBLi/Jjﬂ/"j}?ﬁjkéf
LYt ¥ P N . . °
TN NNegatlve Positive | The particles emitted from a hot cathode 7
Electrons Protons
Ions Ions surface are:
u@ﬁ; Al
JrnCuslA ‘ﬁ,(j.,@ Cf"‘;’,/f gf::«,gf._,@j;l :‘Lﬂ/jd{{.&gf:g,f
Both A & Logic Non- Arithmetic | The basic operations performed by a 8
C Operations | arithmetic | Operations | computer are:
Operations
s E st gt AT B0 T L6
330 238 146 92 =19
One of the isotopes of uranium is ;,°U . The
number of neutrons in this isotope 1s:
ALY JI AT, A JLSH e b KRl n A L e gL T
Number of | Number of Atomic Atomic | Isotopes are atoms of same element with 10
Electrons Protons Number Mass different:
Sk~ ﬁjb};‘m u,.f:f{ r:/ ?cf_uf‘;;}ﬂ/:%:b’d:(c:..uﬁui 11
Safari o You Tube Chrome | Which one of these 1s not a web browser?
Firefox
. = 7 ' : wifl’
Y Y21V IS U3 //ch; :ct_dt'»d/‘f(;ldﬁyj 12
Relay Transformer | D.C Motor ' Which 1s an example of mutual induction?
Generator
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( Part—1  J3 ~aa)
10 Write short answers to any FIVE parts. ..a‘r..:-.,yz /f’ L;l’jléga_(j/
State Hooke’s law. Write its mathematical form. S FF duJ S =YL [ { TS A ¢)

Define time period. Write the formula of time period of
simple pendulum.

A wave moves on a slinky with frequency of 4 Hz and 0.4m o 4tz § 4 S pdndS Ty /«.-‘?/

v igipfel b ZEy bt (i)

wavelength of 0.4 m. What is the speed of the waves? A (111)
Differentiate between concave and convex mirror. _EESS S, AT (iv)
Write the refractive index of ice and water. -g;: L7 Jgfcuﬂf /.,/K&.EJ)'._;/,' (V)
Differentiate between core and cladding of optical fibre. _SE UL K o S 6T (vi)
How can you compare the logic operation X =A.Bwith ESL v e X =AB LT LT (vi)
usual operation of multiplication? ot
Define OR gate and write its truth table. AR Ky S ST (viid)
10 Write short answers to any FIVE parts. ..éfg,yz/? L;még;ﬂ/
Define loudness. On what factors loudness depends upon? Y g JlfJ/;l./I b/u’!_“é - /'3 S A0 (1)
What is the difference between loudness and intensity of sound? fe O/ A JL*;LIJTJ’“? .muf 00 (i)
Explain the series combination of capacitors. WA S T LS }:‘3/ (111)
If V=50V and C=100yF then calculate Q. Q=77xC=100pF . V=50V_[1  (iv)
Differentiate between variable and fixed capacitor. LSS }:‘5( 28 5 1S (V)
What is the difference between web browsing and e-mail? y@\ S J/U UL Sioslbinsezs (Vi)
Differentiate between primary and secondary memory. <>) - _é e S SRE A 4 (vid)
What is the difference between cell phone and phot&@ﬁnﬁ S O U I IS (viil)
10 Write short answers to any FIVE part%k\) -é.:.uwz o L;l’gtéga;éf 4
Define potential difference and write its S“I;\?hi’t S A N )Uﬁ‘fg i)
Differentiate between ohmic and niQ Imc conductors. 29330k jﬂ/ B Ll sl Lz (11)
Write color coding for live, ng and earth wires. _jé,; G I L E Ny (i)
State the working pr1n01ple}>%yA C generator. Sk ases (iv)
What 1s meant by mutual induction? S sl oS, LJJ 2 Joxr (V)
What is gamma decay? Write its general equation. A enlaJzd el e S35 (Vi)
Differentiate between fission reaction and fusion reaction. 295 /’uﬁgf‘g ldjuj'ﬁmj‘gtdjuﬁ (vil)
What is the difference between parent and daughter elements? Ce O/ A S et (Viid)

Part — II, Attempt any TWO questions. Each question carries 09 marks.
L nd L«LJI_{_ 13.5cm Jf’ffiu(;/u’{/ug

An image of a statue appears to be 11.5 cm behind

a convex mirror with focal length 13.5 cm. Find < s ¢« S04 115em &L, 818 (L) 25
the distance from the statue of the mirror. éf o Lo
S;;)rﬁl;llesnalogue and digital electronics with Lo, u;’ 0 S esafude (D

A sound wave has a frequency of 2 kHz and —ur35em s 2kHz o P 5 EL g5 P Sy e

wavelength 35 cm. How long will it take to travel WV L5 JE Aokl 5kmet () -6
1.5 km?
State Coulomb’s law also derive its equation. _“é,lél.:,l;lxdwgf Iz ”é oLt _,J/ ()

A step-up transformer has a turn ratios of 1:100. /’1,;:)7_4.1:100 ed Sk ot LA L

An alternating supply of 20 V 1s connected across i . ) ‘
the primary coil. What is the secondary voltage? G bk Lol iz A LU S L20VISY () T
SR (V)
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